1. Forthen=4 data pairs below, determine the column means (do
not evaluate square root of 3).

X y x? y* Xy
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0 0 O O O
2 o 4 0 0
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2. a. Prepare an (x, y) scatterplot of the four points above and draw
in the plot the least squares (i.e. regression) line as determined by eye.
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| tun= 3.4-225=1.05
b. Give the numerical slope of your least squares line above.
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3. From your answers to (1) give the values below (show your work
do not reduce square root of 3). |

- a. sample sd s for x- scores = \}"“" \/ Xz-X %

¢waz—lz“*ngﬂ k3
b. sample sd s, for y-scores = \I

LEATE s

¢. sample correlation 1 = (Xy - X y) /\/ (2 - x2) (y -5
(DO fia-(Aln -3 =g

d. slope of sample regression line = rs, / s,

gy S CIINR Y

e. sketch a plot of the line through the point x = mean x,
y = mean y and havmg slope (d). It should agree with your line in

().

4. a. (Keep in mind this example is artificial). A 95% confidence
interval for the populatlon mean yy, of y-scores is given by

¥ £1.96 —%
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Evaluate this numencally but do not redue your answer.

| £ 140 }
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b. For larger wﬂh—replacement samples the claim is that thmpelinie

e, the O alculated in the manner above
has around 95% chance of doing what?
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c. A DIFFERENT 95% confidence interval for the population mean
i1, of y-scores incorporates both x and y scores and requires that we
know the POPULATION mean p, of x-scores. It 1 1s given by

(YNE-p) 8, /5,) £ V1 — 12 1.96 \/_
~ Express the above numerically if IS KNOWN THAT p, = 1.7. Do

not reduce - ?’XW) E \@> / W)j F‘\f ‘W (W

d. What advantage is claimed for confidence interval (c), which uses
x-scores as well as y—scores over confidence interval (a) which uses

v v- ?
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